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Question 1

In your answer to this question you should refer to Sources 3, 4 and 5.

Say how far the problems outlined by Mr Blair in Source 3 could be solved by the proposals in Sources 4

and 5.

Skills Descriptors Marks Content Descriptors
Simple interpretation / selection of pre- 1-3) Source 3 - global warming, climate
released material. change, greenhouse gases.
Source 4 - small contribution from
(Where points are lifted straight from renewables, build nuclear power stations.
the source, without elaboration, the
maximum mark is 3.) Source 5 - hydropower, wave power, tidal
power, geothermal technology, nuclear
energy.
Some cross-referencing of material - “4-5 The candidate is able to identify

linking figures in different documents.

specifically those problems outlined by
Mr Blair in Source 3 and then to find
potential solutions to these problems in
Sources 4 and 5.

Information will be as for 1 - 3 marks but
it is expected that explanations will be
more comprehensive and a degree of cross
referencing will be present.
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Question 2

In your answer to this question you should refer to Sources 2 and 6.

Say how reliable the information in Source 6 is when compared to Source 2.

Skills Descriptors Marks Content Descriptors
Simple interpretation / selection of pre- 1-3) Simple statements re content. “BBC is
released material. seen as reliable” is a likely response.
(Where points are lifted straight from the Perhaps a limited and even implicit sense
source, without elaboration, the maximum of bias in Source 6.
mark is 3.)
Some cross-referencing of material - (4-5) Awareness of the presence of bias in

linking key ideas in different documents.
Answers in this band should draw clear
comparisons and not simply give isolated
facts.

Source 6 as it is written by an
organization which exists in order to
promote wind power.

At the highest level there will be some
discussion of the use of language -
impartial in the BBC piece but strongly
persuasive in the BWEA document.
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Question 3

In answer to this question you should refer to all the Sources (1 to 6) as well as using your own knowledge.

How do you think that the UK could best meet its future energy needs?

As this is, by its very nature, a very open ended topic there are no specific guidelines as to the content of answers
that may be presented. Matching the answer to the two sets of descriptors should allow for the placing of an
answer within a mark range. The degree to which the answer matches the criteria for that range will determine
which of the two marks available within the range it should receive.

Simple selection of relevant material (1 =2) | The answer contains some simple reference to the
Basic level of organisation of material - material provided or to additional material.
probably in the order in which it was Information presented should be clear and simple to
presented. understand.
The answer should contain one or two conclusions in
the simplest form.
Ability to select relevant material from a large | (3-4) | The answer should contain some evidence of
body of such information. reorganisation of the material provided and/or of
Sequencing of material other than additional material
chronologically. Information presented should be clear and simple to
Ability to draw relevant simple conclusions. understand with some illustration of points.
The answer should contain clear conclusions, though
these may be in the simplest form.
More astute selection of material. (5-6) | The answer should contain some evidence of
Becoming more aware of audience and reorganisation of material with personal opinion
selecting supporting material accordingly. beginning to be expressed.
Ability to draw other than simple conclusions. Information presented should be clear and simple for
the general reader to understand.
Points should be illustrated with well chosen
examples.
The answer should contain clear conclusions drawn
from relevant material.
Ability to select from pre-released material (7-8) | The answer should contain clear analysis of the facts
and to introduce and link material from and well informed personal opinion. Full use should
elsewhere. have been made of relevant supporting material.
Ability to carry out independent research. The answer will contain evidence of some additional
Aware of links between elements of the research.
subjects. Information should be clearly presented and simple
Conclusions drawn logically from some clear for the general reader to understand.
analysis. The answer should contain clear conclusions drawn
from a range of relevant material and based on clear
analysis.
Personal opinion expressed and supported. (9-10) | The answer should draw its conclusions in a clear and

Greater ability to select material from external
sources.
Draws detailed conclusions.

logical way, offering personal judgements supported
by detailed evidence drawn from a wide range of
subject areas / significant additional research.

Shows an understanding of the differences between
fact and opinion.






